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' G.eﬁeral Instructions:
1. This question paper consists of 39 questions in 5 sections.
]

2. All questions are compulsory. However, an interng] choice is provideq in some -
' questions. A student is expected to attempt only one of thege questions,

Section A consists of 20 objective type questions carrying 1 mark each.

4. Section B consists of 6 Very Short questions carrying 02 marks each, Answers'to -
these questions should in the range of 30 to 50 words. S

S. Section C consists of 7 Short Answer type questions carrying 03 marks each,
- Answers to these questions should in the range of 50 to 80 words, P

6. Section D consists of 3 Long Answer type questions carrying 05 marks each, Anéwcr .
to'these questions should be in the range of 80 to 120 words. :

7. - Section E consists of 3 source - based/case - based units of ‘assessment of 04 marks. .
cach with sub - parts, o

SECTION A

1 Aneclement P forms an oxide wit formula PO. The formulae of its sulphate and . 1]
Phosphate will be respectively ' :

a) P, (SO.;)sandPPO4
PIPSO, andp, ppo ),
VP80, ) and pppo ),
d) Pso, and P, (po
2 Two samp)

contain elees' AdYof g Pure substance obtained by two different ﬁltihnzdg.% g
Panq Q. Substance X has a mass of 2.25 8 ke .

. : . is is an
Ulustratiop, o Yis made Up of 60% P and 40% Q by weight. This .

¢,

T



-
“ XO 1
¢) None of these
d) Law of 3
C
R >stant Proportions - :
o Ptherford’s alph ) i for th
Scovery of , @ - particle scattering experiment was responsible for the 8}
. cleus b) Proton c) Electron d) Neutron
Sotopes of an ¢je | '
ment have ; | (1]
1. Sam ' :
-3 € chemica) Properties 2.Same atomic masses '
8. D :
ifferent atomic numbers 4. Atoms of the same element
8) All of thege
b) (a) and (d) are correct
c
) (b) and (c) are correct d) (a), (b) and (c) are correct
Which ‘
of the following statements does not belong to Bohr’s model? [1]
-8) Electrons revolve aroung the nucleus in different orbits having fixed energies
b) The electrons radiate e s uti attract
nergy during revolution due to force of attraction between
nucleus and electrons, & # ! on N : o
c) The electron in the orbit nearest to the nucleus is in lowest energy state and
farthest away from nucleus is in highest energy state.
d) Energy of the electrons in the orbit is quant1zed i.e., they have ﬁxed energies.
Organelle other than nucleus, contammg DNA i is R : [1]
a) Endoplasmic reticulum b) Golgi apparatus
d) Lysosome

c) Mitochondria
Which of the following cell functions will stop, if its ribosomes are destroyed? [1]
b) Lipid metabolism '

a) Formation of complex sugars
d) ATP synthesis

¢) Protein synthesis |
Lysosomes are formed by: ' L o . 1]
d) RER |

a) SER b) Golgi apparatus
in which two long bones of hand were d1slocated

A person met with an accident
WI‘IJ).ICh among the following may be the possible reason?
: b) Tendon break

c) Plasma membrane

1]

a) Areolar tissue break .
d) Ligament break

c) Break of skeletal muscle | . :
AP B Page 2



10 Which cell does not have perforated cell wall? [1]
a) Companion cells b) Vessels c) Trachieds d) Sieve tubes

11 Which of the following sets includes simple permanent tissues? [1]
a) Collenchyma, parenchyma, Sclerenchyma
b) Pholem, xylem, collenchyma
c) Sclerenchyma, phloem, collenchyma

d) Parenchyma, phloem, sclerenchyma

12 Wave motion transfers [1]
a) mass b) velocity c) energy d) momentum
13 The following figure shows the displacement time graph for a sound wave [1]
stpl:whml(m)
4> Time(s)

produced by an instrument.

Which graph can be obtained when another musical instrument produces a note
of the same pitch but of a different quality?

Displacement (cm)

Displacement (cm)

5
h\’ j/f\g > Time(s)

\

y
Displacement (cm)
5
7 Time(s)

c)'5

Displacement (cm)

I/“,j 6/-\9 +Time(s)
d) 57[
14 Reflection of sound obeys the law tH
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B . 1 >L T
)41=24 d)L found "
1 . s
S ?vzund traVels . b) 2= LT o ¢ | <L T - ne avclcn th q;\’
ose frequen‘:;tih & Speed of about 330 M - _What is
2) 500 m S 660 Hz? 4) 50 ™
16 T b are given as m 5\0
h:nrc)ienetrating p o m 0) 0 audible sound o2
1 ow )
f, respectiveI;r Tc\)}fl ultrasonic waves and othe f \\V
a . The )
o 8 i f at 2 1 OQ\Q
17 Assertion (a). ) f, = 2f, o fi< f2 . o e
& ): Isotopes of an clement show gifferent ¥ encic™ /
eason (R): | nts
) Both A ): Isotopes haye different atomic numbers-
an ' .
d R are true and R is the COITCCt explarlatlon Of A $zc
al on Of A

b) Both A
an
d R are true but R is not the correct explal

c) A is true but R is false

d) A is false but R is true.
. rgor 1‘
18 A:::rtion (A): A plant cell bursts if placed i water. Reason (R) High turg {
pressure causes bursting of plant cells.
nof A

a) Both A and R are true and R is the

b) Both A and R are true but R is not the ¢
c) A is true but R is false.

d) A is false but R s true.
cells. Reason (R): 1)

ntestine has tall epithelial

Assertion (A): The inner lining of the i
d secretion.

Columnar epithelium facilitates absorption an
a) Both A and R are true and R is the correct explanation of A.

nd R are trué but R is not the €

19

b) Both A a orrect explanation of A.

A is true but R is false.
R is true.

c)

d) Ais false but
speed of sound in solids is maximum though their density is 11

‘ent of elasticity of solid is large.

no Assertion (A): The
he coeffict

large. Reason (R): T
R are true and Ris th
R is not the correct explanation of A.

a) Both A and e correct explanation of A.

b) Both A and R are tru€ but

Gre ©oE) TERM EXAMINATION 2023-24 s
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21
22

23
24

25

26

27

28

ah

) Ais true but R is false.

d) A is false but R is true. SECTION B

, Theory:
State the Postulates of Dalto!

Define the terms: - 9. Mass number (2]

2]
: mber :
1. Atomic nu gram of mitochondrig_

Draw a neat and labelled dia
Name the following: - N

i r body
1. Tissue that stores fats il ou 2

. 'n
2. Tissue present in the brai

i id matrix
3. Connective tissue with fluid

4. Tissue that connects muscles to bones in humans

4 .

A source of wave produces 40 crests and 40 troughg jp 0.4 S€cond. Fipg the
frequency of the wave. the surface of water whick, [2]
ts pulses on the s are deteoteq |
gosrgntiz %ritorﬁ. If the time interval between the €missjop an after reflection 2]

pulse is 2 s find the depth of water. 'Srgi{;r;’gNOCétY of sound ip, w::;: (;ﬁsoilsgflﬂgs‘l :
Write down the names of compounds represented by following formulae: [3]
1. AL (SO,); 2. CaCl, 3.X; 80, 4.KNO, 5 CaCo, -
Find out the valency of atoms represented by the following figures. [3]
C
[3]

Page 5



- (3]
th:: fgl Ithe‘ followiy,e .
1 oving ueStgiOdli:gram of phloem and E‘”swer
4 Iden . .
. tlfy A and B ifi .
) What is th the given diagram-
3. What ) S funCtiOn perfOrmed by B?
1S the func; (3]
= L. Identify on performed by C?
2. Spec the tissue given in the following 8%
' ecC
. ify the function of this tissue.
. ame an 1Is
are preseﬁzne part of the plant, where these c€é ;
months [3]
ining whether
disclos€ the

pregnantg ;andmother took her mother to a doctor as in
the child is g o -2 SCn0graphy. But she showe her intfir::fused
gender of the cﬁﬂ; r a girl. The doctor was annoy® art

1. What is ultrasonography?
der of the child?

2. On what principle does it work?
MUSICAL SOUND:

3. Why do you think the doctor refused to [3]

determiné the gen

Observe the following diagram and answer
the following questions: '

What is the difference between
longitudinal and transverse wave?

33

1.

B AN

PN

2. Mention the three charactcristics of

sound.
3. What is the crest and trough?
SECTION D
answer any four questions: In nature, a number of atoms [4]
ntified, which have the same atomic number but
bers.Many elements consist of a mixture of isotopes. Each
t is a pure substance.Ch}onne occurs in nature in two isotopic
occurs in three isotopic forms. Isotopic have various
f uranium is used as a fuel in nuclear reactors

The mass of an atom of any natural element is taken as the average mass of all the
naturally occurring atoms of that element.Atoms of different elements with
different atomic nu rs, which have the same mass number, are known as

mbe
isobars.
—_——//A
//’ -
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34 Read the passage and .
of some elements have been ide
different mass num
isotope of an elemen
forms. While hydrogen o
applications such as an isotope O



in the

;g us€
An isotope of cobalt is ¥
p. treatme .
nt of goltl”e

er
) ent of can¢
a. treatm d. none of these

c. asa fuel
ydrogen has

The isotop€ deut
rotonl b. One Neutrg .
0 and tyg protons

d on€ P

No neutrons

a.
trons d.One protop and op
€ neutron

eu

c. One electront dtwon i
) orrectly justifies: The ;

wing reason c  The ig

th? Zl)lnfhe isotop€s of an element. en

avedifferent 3t
pe identical electronic configuration

Which of tical chemica]

properties 0
mic number

a. Isotope€s h

b. Isotopes have t
Isotopeshave the different electronic configuration

C.
s have ;dentical proton

d. Isotop€
ic species X and Y, such that (X: proton - 8, neutr
5 on - 8;

y: proton - 8, n€utro
X and Y?

X and Y are isobars
and Y have different chemical properties

a.

b. X

c. XandY have different physical properties
d. All of these
L H?,, H?known as protium,

5. Hydrogen exists in three isotopic forms,;H !
n nature?

deuterium and tritium. Why are all the isotopes neutral i

a. Si . . :
Since neutrons are neutral in nature hence isotopes are electrically

neutral.

b. All the isotopes have one electron and one proton, hence they are
neutral.

C. AH the .

neutrajl,SOtOpeS have one proton and one neutron, hence they are

Increasi
asing the number of protons in the isotop€s

make them neutral.
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o W
ot
e o
5 & . eparat®s s or -
€ad th, jon thal ° pran® osis
Passage a uest ce me gh osm {
The Plas 1 ansye, any four 47 golt eplelsrnel ell throuter '
COnteny, Mbrane ; verl™® “rpe P he €€ h wa
t co . f
Permitg ol the oq) Trog, S the outermost ¢ ent. T ¢ of o of hlgm, CELLS
and gify, i “htry eXit of arnd aterials "o aregvs A
Some m T
. T
nglcfngaﬁ" thigvl.zogsl'lls el passage of wateh y uppAL
€able a selective]
Water o, c:;fr Prane ¢, a regicl)‘x;egf low
reacheq, jy o i equilibrium js

€ water ¢, . 1as exactly the
there Will be ncentratlon as the cell,

across the 11 m - Movement of water
Specia}I case of difqujgane- Osmosis is a

Selectjy, able It lr)ough a
. g
(l)) lg::é:n : d Portant e :i:hange
"l ater in t
addition to his, the celflle ife of a pell In

@ high,low b 1oy pign ¢ high, high
2. The plasma Mmembrane is flexible and is made up of o
a.  Protein b. lipids c. fat d. carbohydra
Choose the correct option
& (Dand () b ()and @) ¢ () and V) d.(0V)and (i)

3. Unicellular freshwater organisms and most plant cells tend to gain water
through

a. Osmosis  b. diffusion c. absorption  d.none of these
4. The cell will shrink in which of the following solution?

a. Hypotonic solution  b. Hypertonic solution

b. isotonic solution

c. none of these Nugleus g V,
‘b i "\‘
5. Amoeba acquire its food through the “

process of

a. Endocytosis b.exocytosis

both (a) and (b) d.none of these




36 Read the passage and answer any four questions: A few layers of cells beneath
the eplderr.ms are generally simple permanent tissue. Parenchyma is the most
:}(:_mmon simple permanent tissue. It consists of relatively unspecialized cells with

in cell walls. They are living cells. Collenchyma allows bending of various parts
°.f the plant - like tendrils and stems of climbers without breaking. Sclerenchyma
tissue makes the plant hard and stiff. We have seen the husk of a coconut. It is
mgde of sclerenchymatous tissue. They are long and narrow as the walls are
thickened due to lignin. The tissue is present in stems, around vascular bundles,

in the veins of leaves and in the hard covering of seeds and nuts.

(4]

The flexibility in plants is due to
Collenchymas b.parenchyma

a. c. chlorenchyma d.aerenchyma

Function of aerenchyma:
a. It performs photosynthesis b.It helps the aquatic plant to float

c. It provides mechanical support ~ d.none of these

Which of the following tissues has dead cells?

c. Collenchyma d.Epithelial tissue

a. Parenchyma b.Sclerenchyma

Which of the following statement is incorrect

Parenchyma tissues have intercellular spaces.
kened at corners.

a.
b. Collenchymatous tissues are irregularly thic

Apical and intercalary meristems are permanent tissues.

d. Meristematic tissues, in its early stage, lack vacuoles, muscles

a. (Jand () b. () and () c(l)and(® d.Only (111)

_—________Q______/—/___—-—-————___—__—-_——'_———
Page 9
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37 Write th
e
1 molecular formulae for the following Compou

ti of the .
ISsue which .fouo\vmg is the function of thef,
. amc

C
opper (II) bromide 9. Aluminium

18 .
shown in the beloW 12

Trancn:
anspiration

Pr()\«‘.
'des mechanical support

Provi
Ovides strength to the plant parts
None of these

SECTION E
nds: (A

(1) itrate

3. Calci
cium (II) phosphate 4. Iron (11 sulphide

S.
Mercury (1I) chloride 6. Magnesium

(11) acetate

38 Draw a plant cell and label the parts which

39

1.
2.

w

- o &

S

determines the function and developm:

packages materials coming from the endopla

provides resistance t

ent of the cell
smic reticulum

o microbes to withstand hypotonic external media

without bursting

is site fo
is a fluid contai

Write two difference be

How

Which material

Why

r many biochemical reactions necessary to sustain life.

ned inside the nucleus
tween echo and reverberation?

n we reduce reverberation in an auditorium or a big hall?

ca
s are good absorbers of sound?

re clearly in a room having curtains?

we can hear moO

[S]

[5]

[S]
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